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  PHYSICS

1. Sparkling of diamond is due to

1) Refraction of light

2) Reflection of light

3) Dispersion of light

4) Total internal reflection of light

2. The sun becomes visible before the
actual sunrise and remains visible
even after the actual sunset. It is
because of

1) Scattering of light

2) Diffraction of light

3) Refraction of light

4) Dispersion of light

3. If a bulb uses 1500 Joules of current
in 15 seconds then its power is

1) 50 W

2) 70 W

3) 10 W

4) 100 W

4. Speed and Velocity are numerically
equal only in the case of

1) Linear motion

2) Curvilinear motion

3) Periodic motion

4) Oscillatory motion

��9�	���	�:

1 �	�)��>�5?@��
,	��#	)A�	�<��&	B�	C�����	�

1) ����	
����	�
�����
�

2) ����	
����������
�

3) ����	
�������
�

4) ����	
������������������
��������
�

2 � 	�
, ��D�� 	
, 	 �� 	� >� � 	 � �� 	 2 � � 	 �� 	 � �
� 	�
, 	 ,�D� 	 �� 	� � 	
� 	� 	� 	E� � 	�
, 	 �D
%���F	$�	��	7�	��>����	�

1) ����	
�������� ���

2) ����	
����!�
�����

3) ����	
����	�
�����
�

4) ����	
�������
�

3 G
�	��(C�H�1500�I9��%	&	0	�J�/�	��F	KL�
,	��	�2
15� ����
3�%	&	� ��C� (&	M�	��� 5�	�	
���	�N	�D�	7

1) 50��"!#$%

2) 70��"!#$%

3) 10��"!#$%

4) 100��"!#$%

4 ��	� �	��	��� ���%	� ����	3	�	� �	
����	,9C�
�	�	���*�	��	7�	�

1) 
�
������
��&� '�

2) ��	�
�&� � ���
��&� '�

3) ������������
��&� '�

4) ����(
�
�����
��&� '�
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5. Which of the following Capital English
Letters does not show lateral inversion ?

1) A  I  O  V

2) O W X M

3) A W B X

4) O I M V

6. The body temperature of a Camel

is 113º F. Its temperature in Kelvin
Scale is

1) 31 K

2) 318  K

3) 321 K

4) 324 K

7. The molecular theory of magnetic

substances is supported by

1)

2)

3)

4)

8. The ratio of  distance travelled to
the displacement covered by a
body along circumference of a semi-
circle of radius ‘r’ is

1) 2 : π
2) π  : 2

3) π  : 3

4) 3 : π

5  #��	@D� /#	�	�
,	��	�	�2� ����$�	�	� �
*1�0�
���3	O�5�	
�	%	&	�%	�
#	��
,	,��	7�	�P

1) A  I  O  V

2) O W X M

3) A W B X

4) O I M V

6  G
�	��G
Q�
,	�����<	�	�R0	S��
,	���113º�F.
��T@���#	�	U�
,	�T1�V�R0	S��
,	��

1) 31 K

2) 318  K

3) 321 K

4) 324 K

7  ��&	*�	�	7%	&	T1���
�	�	�	��%	&	�5�����	�	�	�2
#	7WJ��	$�	��	�X
,��>

1)

2)

3)

4)

8  �)���	7�YrZ����	��	��	+�	��	T1�G
�	����
,	��	7
�	+������	�	� F	C��
,	�T1� 5��	D�	+�	 ��	�	�2
#	$?[
,	�� ������� �	)/�M��%	� F	TM�	� �	��	
<�%	����\�	�#	C18%	&	�5�	�#��	�	7

1) 2 : π

2) π  : 2

3) π  : 3

4) 3 : π

� � � �

�

�

�

� �

� �
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� � � � � � �
� � � � � � �
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9. Mohan moves 30 mts in a straight line
towards East and then moves 40 mts
to the South. Find his displacement

1) 70 mts.

2) 20 mts.

3) 50 mts.

4) 60 mts.

10. The type of motion with reference to
friction in decreasing order is

1) rolling, static, sliding

2) rolling, sliding, static

3) static, sliding, rolling

4) sliding, static, rolling

11. The following is not an equation of
motion

1) v = u + at

2) a = 
t

uv +

3) v – u = at

4) a  = 
t

uv −

12. In a maximum-minimum  thermometer,
the indicator does not come down
when the level of mercury comes down
because

1) Mercury is heavy liquid

2) Surface of mercury is convex

3) Surface of mercury is concave

4) Mercury is a silvery liquid

9 ����<	�	�	�� ����	��*� 30� /��� �	��	�	�	�2
R�	��	�?L>%���	3��	���	
�	�	��	L
��?L>�	��	3�%�
����	��*�40�/����	��	�	�	�2��	)/�M�.C�1����� 
<�%��	���5�	�	���\�	#	C18�	7

1) 70�� 


2) 20�� 


3) 50�� 


4) 60�� 


10 ]	0	D^�
,	��� �	_���
,	,�%	��	
��� ��&	*�	
F	C��%	&	T1��	$
,	,��	�X
,��>

1) )�� �� ��*�+,�-�*�."�� ��

2) )�� �� ��*�."�� ��*�+,�-�

3) +,�-�*�."�� ��*�)�� �� ��

4) ."�� ��*�+,�-�*�)�� �� ��

11 V� ��&	*�	�	7%	&	T1� 
,	,��	7�	�� F	C��
,	�
�	/���	�	��	C1� ?

1) v = u + at

2) a = 
t

uv +

3) v – u = at

4) a  = 
t

uv −

12 G
�	�� % 	$0	 4 ` � 	.0	 4� ��#	�	,�#	� 	� 	T 1
#��	�	�	�	��	�8J��	_����X��%	��	�F	�	���&	%�
�a
,	�?�	C�����	�

1) �"�����������(����/�0��"-1��

2) �"����������� 
2�345�6

��"1�� ��/�� 

3) �"����������� 
2�345�+�� 7�"1�� ��/�� 

4) �"�������8��� �0�(���&�  ��������
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CHEMISTRY

13. Gram molecular mass of Calcium
Carbonate is

1) 98 gms

2) 89 gms

3) 100 gms

4) 102 gms

14. The properties of elements with
4, 5, 6 or 7 valence electrons is

1) metallic

2) non-metallic

3) acidic

4) alkaline

15. Metals generally do not react with the
acid

1) Sulphuric acid

2) Hydrochloric acid

3) Nitric acid

4) Carbonic acid

16. A copper doll kept in a  showcase looses

its shine with time because of the
formation of

1) Oxides

2) Hydroxides

3) Chlorides

4) Sulphates

 �	��
,	��	���	�:

13. ���Tb
,	�
������D���Q��	�5������
,	��

1) 98�9"��

2) 89�9"��

3) 100�9"��

4) 102�9"��

14. 4' 5' 6�5N	��� 7� �������b� �����J:�	�%	&	�&	c
����	�%	a%�����	,��	���*���	��	�%	��

1) 2�(
:
�&� 

2) ;2�(
:
�&� 

3) �� �
�&� 

4) ����"!� �
�&� 

15. ����<	%	&	�����	,��	���*��	�D�	������	��	
X�	�1

1) ���(< !��$���� �

2) 0�5=�(�
��(�
��$���� �

3) 
�5>��$���� �

4) �"�"�+�$���� �

16. #	 )�	�D�	� #	!J
, 	�T1� �!J�	��	� ���	� )�	
%��
��
,��
�	�� 5�	�	� <��&	#	�	�2� �	&��	�
���&	cC�����	��5T1�R
Q�%	��	��	�	��

1) ���%45=� 9��� 

2) 0�5="���%45=� 9��� 

3) ��(�
��5=� 9��� 

4) ��2�<
? 9��� 
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17. An example for hydrated salt is

1) Iron Sulphate

2) Sodium Chloride

3) Calcium Carbonate

4) Ammonium Chloride

18. The element which exhibits variable
valency is

1) Nitrogen

2) Oxygen

3) Hydrogen

4) Carbon

19. Magnetic moment of  atom is

1) because of electrically neutral
neutrons

2) Equal number of positively &
negatively charged particles

3) Small nucleus

4) Definite orbits

20. A thermometer is inserted  into a
beaker filled with ice at 0ºC. The
beaker is heated slowly. The
temperature does not rise for some
time. This is because

1) ice is very cold

2) heat was used for changing ice at
0º C to water at 0º C

3) the density of water is more than ice

4) the density of water is less than the
ice

17. �T��	+�	�C�	���>�R��<	�	̂ �
,��
�	��

1) ��@A������2�<
#$

2) ��(
B�&� ����(�
��5=$

3) �"!'%�&� �� �"��(
�
�
#$

4) ;��(
+�&� ����(�
��5=$

18. F	�	�	

,���%	� ���	�N	�D�	�	�2� <��
?�	��	
����	�� 
,	,��	7��
�	��

1) �"���
���

2) ��� ��
���

3) ���
���

4) C�9"�

19. #	�	�	,���/%�� ��
��
,	�� �	�<	�	@/�	��	7�	�
d��
�	��

1) ��� !���,����:���"���
�(!#"�
� 9�D���

2) ���� �"������
���� �� E�F �
��� !���,�9�D���

3) ���G�@
���
����H���

4) +H�I�J�"�������K9�D���

20. ��#	�	,�#	�	�G
�	�	�2� 0º ��
!%�)�3����	��	
�	�
��%	3�O
,	��&	c� e��	$�	T1� �3	��*��.
e��	�	�	�2� .����	��*� ��f�M��.� ��C��C
��#	�	,�#	�	�	T1� ��#	�	7� <�F�g%	?�	��	7�	�
�	
3	��(�	��	7�	�.���	��d��
�	��
1) �� �� 9�=�L�&�  �M0�������G1�� ��E��
2) )I�G��/�0º ���.�
�'��� ����� �� 9�=�L

N ���� 0º ���.�
�'��� ���+
�9�
M��2"N ��� �)���&�(
1���O=� ��E��

3) +
�
���"��������� �� 9�=�L1����0��� -
4) +
�
���"��������� �� 9�=�L1���

��B�� 
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21. No energy is absorbed or emitted as a

result of mixture formation except in

dissolution processes because

1) There is no interaction between the

particles of the mixture

2) The particles make a separate phase

3) There will be a change in the  state

of components of the mixture

4) The constituents of the mixture will

be of the same state

22. Electro velant bond is

1) Ionic bond

2) Covalent bond

3) Metallic  bond

4) Hydrogen bond

23. Antacids are

1) Basic compounds

2) Acidic compounds

3) Vitamins

4) Proteins

24. Vinegar is used in the preparation of
pickles because  it

1) curbs the growth of bacteria

2) provides sour taste

3) enhances the quality

4) makes pickles delicious

21. /T��	�#	)L)
,���	h�	��*�/��	)��R
Q�%	���%	
� 	L �
 , 	 � �� h�$� ��& 	 � c� 	 7?C 1� 5N 	��
e3	�%	3�
,	,�%	��	7?C1.� d��
�	��

1) � ,���������9����
�=� ���������O��
;�����	��&� �C��H�� ��/�� 

2) ���9��� ���
���P�?J9���
� 7���QRJ�� ��E��

3) � ,������P�?��9����ST�9���'�
M��2"��U���9� ��/�� 

4) � ,���9����P�?������ E9��� �;��

ST�9���'��C�� ��/�� 

22. ������J:��(
��	�	�����2
�	��<��	�	�

1) ;�&�&"+���M����

2) ��0���
2�+%�&� �M����

3) 2�(
:
�&� � M����

4) 0�5=�(�
�
$�M����

23. X�	�1�.������	�	��
�	��

1) ����"!� �
�&� � ����&�  ��E9��� 

2) �� �
�&� � ����&�  ��E9��� 

3) �?� 
$9��� 

4) ��� �
>

$9��� 

24. RBi�	��f�� �	
,	,�$��
,	�T1� /��%	��%	&	�	�2
(&	�	C�����	�'�5�	�

1) �"!	J
��&�&"��������V9��&� 
� 7
��=�9�? J��E��

2) 0� D�&� ��� W�&� 
� 7�8��1�� ��E��

3) 9� ��� ?J��
� 7�0�W-�� ��E��

4) �"XHI�J�������"1�� ��E��
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BIOLOGY

25. Chromosomes are made up of

1) Proteins and Carbohydrates

2) Lipids and Nucleic Acids

3) Nucleic Acids and Proteins

4) Carbohydrates and lipids

26. The cell organelle which helps in the
manufacture, storage and export of
proteins is

1) Mitochondria

2) Rough Endoplasmic reticulum

3) Golgi Complex

4)  Plasma membrane

27. Which among the following is not true
regarding transpiration?

1) Transpiration cools the plant

2) It helps in the conduction of food
through phloem

3) It helps in the conduction of water
& dissolved salts through xylem

4) Water is lost in the form of vapour
through stomata

28. Which among the following is not an
example for vegetative propagation?
1) Potato
2) Ginger
3) Coconut
4) Banana

;��	���	�:

25. �	�D��	
�	�%	&	���	,�3	Ci!J�	��	7�	�
1) ��(�
>

$9��� ��� �� E�,������9�D���
2) '6=$� (��(M A)9��� ��� �� E�
�(!	��$

��� �9�D���
3) 
�(!	��$���� �9��� ��� �� E

��(�
>

$9�D���
4) ,������9��� ��� �� E�'6=$9�D���

26. #��)�!���%	&	� R��i�	��'� �	
%	)<	^�� �	��	��
��%��=��
,	�T1����	��%	��	��	��	
%	�	7
1) �� 5#�(
�"�B��&� 
2) 8��#"���Y�=�(
�"�S3�$

��>�� !���&$
3) 9"'Z
� ���	
��
4) ��(
,���(��

27. ��Wi��	�	���>� �	
(
?[M�	
��� ��	7%	&	T1

,	,��	7�	���	$
,	�C1�P
1) �"RO
�������/�����!��
� 7������ 

9�(D�� ��E��
2) ��(�
�&� ���� (�����0"����

�"9"�V��9����0"�&� ���&"=� ��E��
3) ��[ !���&$��� (����+
�� ��� �� E

����1��������9�����"9"�V��9�
��0"�&� ���&"=� ��E��

4) +
�� ����&� ���(����'�������
�������9������ (��������\����O=� ��E��

28. ��	7%	&	T1�
,	,��	7�	����
,	����	
�������	i��%�
R��<	�	^�
,	�C1P

1) ��(9�=�L

2) ,� �]

3) ���9� 

4) �"��
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29. The process of growth in living

organisms is

1) External and irreversible

2) External and reversible

3) Internal and reversible

4) Internal and irreversible

30. The blood vessels which supply

oxygeneted blood to the muscles of

human heart

1) Aorta

2) Pulmonary veins

3) Coronary artery

4) Pulmonary artery

31. Plants take in

1) Oxygen during day and Carbon

dioxide during night

2) Carbon dioxide during day and

Oxygen during night

3) Oxygen and give out Carbon

dioxide during day

4) Carbon dioxide and give out

Oxygen during night

29. ;��	%	&	T1�	���&	�	�=%�
,	��#	)L)
,��
,	��

1) �"0�!��� �� E�;���"����!�

2) �"0�!��� �� E����"����!�

3) ���������� �� E����"����!�

4) ���������� �� E�;���"����!�

30. �	,��	�	�	�<	+�	
,	��	���2
,	��%	a%��X�	�1��	�	���	h�	

�	�	��	�	�2��	�	(������	,�3	��	��	�	���&	%	&	�

1) �� 0"������� +

2) ���3
���;@^���� +

3) ����(

���;������� +9��� 

4) ���3
���;������� +

31. �	�	�%	&	��`

1) 0�9�'
�'����� ��
�����
� 7��� �� E

C�� D
�'��C�9"����=�5���%45=�
� 7

:
�� ��E��

2) 0�9�'
�'��C�9"����=�5���%45=�
� 7

�� �� E��C�� D
�'����� ��
�����
� 7

:
�� ��E��

3) 0�9�'
�'����� ��
�����
� 7�:
�

C�9"����=�5����%45=$
� 7�@=� 9�=�

��&"=� ��E��

4) C�� D
�'��C�9"����=�5����%45=�
� 7

:
����� ��
�����
� 7�@=� 9�=�

��&"=� ��E��
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32. The digestive juice that does not have

any digestive enzyme but helps in

emulsification of fats is

1) Bile juice

2) Pancreatic juice

3) Gastric Juice

4) Saliva

33. The hardest substance in the human

body is

1) Dentine

2) Bone

3) Enamel

4) Cartilage

34. The mode of nutrition in green plants

is described as ‘holophytic’ because

it involves,

1) Manufacture of organic

substances from inorganic raw

materials in the presence of

sunlight

2) Manufacture of inorganic

substances from organic raw

materials in the presence of

sunlight

3) Synthesis of food using chemical

energy

4) Release of oxygen into the

environment

32. 
,	,��	7����;��D��$�L�@%	&	�	�2�<��
?�	�	'
�����	Mb�	���	�Tb��	�	��	T1��	<�
,	���	,�3	��	
;��D�	�	

1) 6��E����

2) �� 
��(
\
���������

3) �_��������

4) 2"2"����

33. �	,��	�	�	����<	�	T1�	�5�	�
�	��	j���	�	��

1) =��#�5
$

2) �� (��

3) Y
"�� 2$

4) �� Q��XST

34. <	M�	�� �	�	�%	&	� X<��	� /����	�	�	�2� Y�	�	�
�	
#	��D�(<�������#��k!��)�/����	Z��
�	�
<��&	(<	��	�.�d��
�	�����	��V���&	*�	�	�	�2
<��
?��.

1) ��(��!
������	
����0"�&� H���
+�����&� ��� ���"`���� E9�D���
�"���&� ������� E9��� 
���&�&"�"9� ��E��

2) ��(�&� �
������	
����0"�&� H���
�"���&� ������"`����� E9�D���
+�����&� ������� E9��� ����&�&"�"9� ��E��

3) ���"�&� +��� ,�	E�&� 
� 7�M��S��(�=� 
�0"����/����,��
R��9�(�� a��E��

4) ���������b���� ��
�����/
@=� 9�=�9�(�� a��E��
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35. The correct match of type of Algae

and its example is,

      A    B

i) Unicellular algae A) Volvox

ii) Filamentous algae B) Sargassum

iii) Colonial algae  C) Chlamydomonas

iv) Multicellular algae D) Spirogyra

1) i - B, ii - A, iii - D,  iv - C,

2) i - C,  ii - D, iii - A,  iv - B

3) i - D, ii - C, iii - B,  iv - A

4) i - C, ii - A,  iii - D,  iv - C

36. The correct sequence of ‘Level of

Classification’ is

1 2 3 4

Kingdom Kingdom Species Species

� � � �

Class Phylum Genes Family

� � � �

Order Class Family Class

� � � �

Phylum Order Class Genes

� � � �

Genes Family Order Order

� � � �

Family Genes Kingdom Kingdom

� � � �

Species Species Phylum Phylum

35. ��k�	C�	� (%�� �	��	� �� 5�	� � >� �	$
, 	,�*
<��
���=��
,	,�%	��	� R��<	�	̂ �
,	��'

������ �

i) ��������	
�� A) �
�
����
�����������

ii) ��	��� B) �����
�����
�
�����������

iii) ���
��������
��� C) �� ����!������"
��
�����������

iv) #���������	
�� D) ������������

�����������

1) i - B, ii - A, iii - D,  iv - C

2) i - C,  ii - D, iii - A,  iv - B

3) i - D, ii - C, iii - B,  iv - A

4) i - C, ii - A,  iii - D,  iv - C

36. �	*D�� 	� 	��	� �	��C�%	& 	�(�	�8J% 	& 	�)
�	$
,	,��	�5�	��	)�	�

1 2 3 4

�
��

$%� �
��

$%� &�$'(��)� &�$'(��)�

� � � �

����* ��	�� +
, ���-�	#

� � � �

� � . ����* ���-�	# ����*

� � � �

� � 	 � � � � . ����* +
,

� � � �

+
, ���-�	# � � . � � .

� � � �

���-�	# +
, �
��

$%� �
��

$%�

� � � �

&�$'(��)� &�$'(��)� ��	�� ��	��
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HISTORY

37. Read the following statements and

identify the correct match.

A) The aim and objectives of Brahma

Samaj founded by Rajaram Mohan

Roy influenced William Bentick to

abolish Sati System in 1829.

B) ‘The Central Hindu College’

started at Benaras by

Annie Besant became ‘The

Benaras Hindu University’ later.

1) A is true, B is false

2) A is false, B is true

3) Both A & B are false

4) Both A & B are true

38. Arrange the following in

chronological order and choose the

correct alternate given

a) Partition  of Bengal

b) Lucknow Pact

c) Jallianwalabagh Massacre

d) Partition of Bengal was cancelled

1) a, b, c, d

2) a, d, c, b

3) a, d, b, c

4) a, c, b, d

��<��	

37. V���&	*�	���	3	��<��a��%	&	�	�2�l?'����!J�	��	
X
,��>%	&	T1��	$
,	,��	��	�	�2�X
,��>��	,�_.

Yc M�0�3� ����&"�� �"T6S��� �"."�"��&$
��(
0�
$��"�&�&$����������,����� �� E
)��d
,�9��� ��'�&� �����>��$��� 
2�
0�W-
�������"���@
���d�����1829���'�
e�������f�g�&� 
� 7����� d9�(D��2"N �� .

@c ;+�����#$�M
"���$
�'���"T6S���e��
����
:���(� �"2�
� g� ��  ���� eM
"���$
:���(��,�X��"!��&� g�"N �� .

1c 0�
D���Y����*�@�����/O

2c 0�
D���Y�����/O*�@����

3c 0�
D���Y��� �� E�@�Y��=�(�����/O

4c 0�
D���Y��� �� E�@�Y��=�(����

38. V� ��&	*�	� ]	8��%	&	�	�2� �����	��	)�	��	T1
I���_M.�5�	�	��	$
,	,��	�X
,��>
,	��	�2��	�6M.

Yc M�9"����������
�

@c ���(7
�8��O���

Sc �'�&� 
$��"2"��"9$�0��"!�"�=�

Bc M�9"����������
������d�

1c Y*�@*�S*�B

2c Y*�B*�S*�@

3c Y*�B*�@*�S

4c Y*�S*�@*�B
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39. To Modernise his army, Tippu Sultan
developed friendly relationship with

1) The Portugese

2) The Dutch

3) The French

4) The British

40. The main cause for the geographical
discoveries in the world is

1) Fall of Constantinople

2) Increased demand for trade

3) Renaissance

4) Social and Religious Reformation

41. The battle which established the
Supremacy of the English in Bengal
was

1) Battle of Buxar

2) Battle of Plassey

3) Carnatic Wars

4) Anglo-Marata Wars

42. Match the following literary works
with their authors and choose the
correct alternate

A) Arthashastra 1) Charaka

B) Indica 2) Kalhana

C) Rajatarangini 3) Koutilya

D) Bhuddha Charita 4) Megastanes

5) Ashwagosha

1) A - 3,  B - 4, C - 2, D - 5

2) A - 4, B - 3, C - 4,  D - 5

3) A - 2, B - 1, C - 3 , D - 4

4) A - 1, B - 2, C - 5, D - 3

39. !#	7i��	�����	�	���	�	2���k�	��	�	�2�X��	�.��	$�	C�
��	���
?%��R�	��	����2�<	�	
(
��	
��&�M���
3	�	�

1c ���
�� �1
���� 

2c =���-�� 

3c ��������� 

4c @�>I��� 

4m. #	)#	
F	�	� ��9%���a�	� �	
������	��%	a%�� 5�
�	��A�����	�

1c �"
$%#"�>
�(
��2$�����
�

2c �"!�"����b�0�W-�����
B��

3c ��/
��� \h
��
�

4c �"��&"\����� �� E���"� ������ ��"��U�

41. X
%	1�	���	�	�n�#	�	�	,�?[���	�	�	�2�(
%�&	�	T1
����%��a�	C�����	����	�
,	���	U

1c M�"%�$�����
�

2c �"�S�����
�

3c ��
"�>�$� �&�  ��f9��� 

4c ��9�(�
i�� �"_���� �&�  ��f9��� 

42. V� ��&	%�� ���!J�	��	� �	+�%	&	�� �	��	��� 5�	7%	&	
�	�	+D%	&	�	�2�<��
?M'��	$
,	,��	�X
,��>%	&	�	�2
%	��	��M
Yc ;j��,"��Ek 1c ������
@c C�B�" 2c ���l�
Sc �"�������1�V 3c �m>�!
Bc M ��f������ 4c �� 9"��E+
�$

5c ;,�XP�(
I�
1c Y�i�3*�@�i�4*�S�i�2*�B�i�5
2c Y�i�4*�@�i�3*�S�i�4*�B i� 5
3c Y�i�2*�@�i�1*�S�i�3*�B�i�4
4c Y�i�1*�@�i�2*�S�i�5*�B�i�3
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43. The father of the humanism and of

Italian literature  was

1) Aurispa

2) Boccacio

3) Petrarch

4) Dante

44. Discovery of Sea Route to India :

Vasco-da-Gama :: Southern most tip

of African Continent: _____________

1) Christopher Columbus

2) Bartholomew Diaz

3) Ferdinand Megallan

4) Amerigo Vespucci

45. If Babar had not defeated Ibrahim

Lodhi at the battle of Panipat in 1526

A.D. then

1) Delhi Sultanate would have

declined

2) Mughal dynasty would not  have

been established

3) Mongols would have attacked

India

4) Arabs would have occupied India

43. �	,��	�	�����	�	�YB���	�<	Z�<�%	���8T

��h�	��	�Y��	�	Z�
,	,��	�P

1c n���O

2c ��(�"!R�&�(


3c ��#"��$�

4c ="�#�

44. ����	�	��>� �	�	���	)� �	,�%	D�	� 5��@�0	^�� -

�����>�-3�-%��	��--�XB[)���A
3	�	��	L
�

�	��	��	�?�-�ooooooooooooo

1c 	���(J
����$���(��M�$

2c �"����2�(
� �&�(
�=��&�&"�$

3c ����L
"�=$��� 9�2"
$

4c ;�� �9�(
����� OS

45. L).�	.�1526��	�#��=#	����	�	�	�	T1���(�	�	�

���)h
�����?
,	��	�2�����T�	�����?p�	p��

1c H'���� 2"E
�����"��&"��!���;��
��

)�#"9� �E�� E

2c ��(P�2$��"��&"��!��"T��
��&�&"9� �E��'��

3c �� �9�(
��� ���"��������� 
2���"D

��&"=� �E��d�� 

4c ;��MA�� ���"������
� 7������ �� �E��d�� 
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46. The leader of the Reformation

Movement who translated the Bible

into German language was

1) Ulrich Zwingle

2) Martin Luther

3) John Knox

4) Jean Calvin

47. The year 1664 is important in the

history of the French East India

Company because

1) The French defeated the British

Navy in Europe

2) The French defeated the Portuguese

in India

3) The French East India Company

was established

4) The French lost the battle at

Wandiwash

48. The art of writing of the Egyptian

Civilization was called

1) Cuneiform

2) Hieroglyphics

3) Ideographic

4) Pictographic

46. ��k(C�	�2� ��	�D��� ���0�%�� ���0�
�	$M�	

���/�D�	��	�����	̂ �
,	����
,	��	

1c ;2$��$�.�X�1�

2c ��&">�
$��(j��$

3c ."
$�
"�$%

4c \

$��"!'X
$

47. #��)
F��V��J��
_
,	,���	
#	.
,	��F	$��)
,	�T1

L).��	.�1664�<�F	�g��	�<	�	@�#	3�?��.�d��
�	��

1c �&�  ��(
6
�'����������� �@�>
I���


m�"M���
� 7���(
'S���� 

2c ��"������'����������� �����
�� �1
����
� 7

��(
'S���� 

3c ������$�o�$J�C�B�&�&"������+

�"T6���"N �� 

4c �"�B
�"I$�����
���'����������� 

��(
'���O?J�� 

48. V;#� J� ��% 	$�� 	� �
, 	 � � ��C� 	T 1� 	

(�	�	�=%�
,	��	�2�h�%���	��
,	�������

1c ��(!+��"���

2c 0�5��(
1�6^�$%

3c pB�&�(
9"�6^�$

4c 6��(J
9"�6^�$
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GEOGRAPHY

49. The group of planets in the ascending
order of their size is
1) Mars, Mercury, Venus, Earth
2) Mercury, Mars, Venus, Earth
3) Venus, Mars,  Earth, Mercury
4) Earth, Venus, Mars, Mercury

50. The Local  time of the place ‘X’ is
9 P.M.  today.What should be the local
time and day of place ‘Y’ if it is 1650

East of ‘X’ ?

1) 10 A.M. of the next day.

2) 8 P.M. of  the previous day

3) 8 A.M. of  the next day

4) 10 P.M. of the previous day

51. People in Australia celebrate
Christmas in Summer. The geo-
graphical reason involved in this is
1) Australia lies in Southern

hemisphere
2) It’s terribly cold in Australia during

winter
3) Australia lies in the eastern

hemisphere
4) Summers are moderate and

pleasant in Australia

52. One of the below mentioned continents
doesnot lie in the tropical zone at all.
It’s

1) Asia

2) Europe

3) North America

4) Australia

��	�%���&	

49. %	)<	%	&	�%��	)%	&	�X����	�	��������X����<	�
�	)�	��	T1�I���_�	��*�	��	�%	�
#	7
1c �� �9���*�M ���*�,� ���*����(� 
2c M ���*��� �9���*�,� ���*����(� 

3c ,� ���*��� �9���*����(� *�M ���
4c ���(� *�,� ���*��� �9���*�M ���

50. YXZ��
(�G
�	���	\&	�	��	\a�
,	����C�	,��	
���)� 9� %	
Q�
,	,�*���� YYZ�
(� �	\&	�	7� YXZ
.
�	� 1650� #	��	D���	��'� X� �	\&	�	� ?�	'
�	\a�
,	�����&���	��	���?�	�	�	�2��	
3	��h_f�$.

1c ��&"��
�
�H
����10�9��#������9�Z

2c :�H
��H
����8�9��#���"��
3c ��&"��
�
��H
����8�9��#����D9�Z
4c :�H
��H
�����10�9��#���"��

51. X��J:�T
,	,��	T1�	���	�	��L)���	����<	(H�	�	�2
���M%�� ��C�	T1� XF	$�	������.� ��	�	T1
53	�	��*�	��	� ��9%���a�	� 5
�	
1c ���Jk
'�&�&"���	KU"�����9�(
����'���

2c ���Jk
'�&�&"��'��;�0��� -���DN ���
��(B�����D9"���� ��E��

3c ���Jk
'�&�&"���(�"�����9�(
����'���

4c ���Jk
'�&�&"��'������"���0"9�(
:�������"�����
S9��C�� ��E��

52. V� ��&	%�� ���!J�	��	� A
3	%	&	� <��	�	�%	&	T1
G
�	�� A
3	�	7� �	,��	)� R0	S�	C
,	��	T1
��	��	7?C1.�5�	�
1c qI"!
2c �&�  ��(
�$
3c )��E���;�� ��"
4c ���Jk
'�&�&"
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53. The Ozone layer is found in one of
following layers of the atmosphere.
Identify it.
1) Troposphere
2) Stratosphere
3) Ionosphere
4) Mesosphere

54. Identify the figure showing right
direction of winds caused by Coriolis
Force and Ferrel’s law.

1) 2)  

3) 4)   

55. a) The highest mountain peak in
Europe is Elbrus in Cancusus
mountains

b) Finland is called the land of
thousand lakes

c) Gulf stream, a warm current flows
through the English channel
between France and England

d) Volga is the longest river in Europe

Which of the above statements are true?

1) a, b, c

2) a, c, d

3) b, c, d

4) a, b, d

53. lI������ �	C
,	��	7� V� ��&	%�� ���!J�	��	
��
,	���	�
3	C�	� �	��	%	&	T1� G
�	�� �	��	�	T1
���.�5�	�	�2�%	��	��M
1c ��������
���� �=��
2c ����(
I�G��� �=��
3c ;�&�&"
� ��� �=��
4c �� ���!�������� �=��

54. V� ��&	*�	� 6�	)%	&	T1� G
�	�� ����$
,	,�T��
�	L �� �	��	� �� #� �� 	��� .
,	��	��	��2�� 	$M
�	,��	��	%	&	�� F	T�	��	� ?�	>�	�2� �	$
,	,�*
����$M��.�5�	�	�2�%	��	��M.

1) 2)  

3) 4)   

55. Yc �"�����$� ���������' �
 �� ��&m�#$
Y2$M��$���&�  ��(
6
��;��Y��E���"��
�������,��
�V�&�&"1��

@c 6^
�2"!�=�
� 7���0���������(
����9���

"=� �Y��� ������&�  �"E��

Sc 9�2$<�SJk
��Y�M�)I�(G
����
����"0���/���"�
$%��� �� E�C�9���=$9���

�=� �
��C�1�
I$���=�2"Z� ���&� 
�� (����0���&�  ��E��

Bc ���
2"Z�
�H�&�  ��&�  ��(
6
�'��;�
)��d�"���
�H

�� 
'
���"��!9���'���&�&"��/�� �����&�&"1���r
1c Y*�@*�S
2c Y*�S*�B
3c @*�S*�B
4c Y*�@*�B
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56. Read the following statements :

A) They are the flowing mass of ice

B) they transport huge boulders to

great distances

C) They produce U shaped valleys

during erosion

D) Plucking of rocks is a process of

erosion caused by them

Which of the following represents the

above mentioned characteristics?

1) Glaciers

2) Rivers

3) Loess

4) Snow

57. A) Ocean currents in the Indian Ocean

in northern hemisphere change

their direction twice a year

B) The direction of flow of cold
currents in the Southern
hemisphere is from South to North

C) Warm currents move from poles to
the equator

Which of the following Group is correct ?

1) A is true, B & C are false

2) A & B are true and C is false

3) A & C are true, and B is false

4) B & C are true and A is false

56. V���&	*�	����	�%	&	�	�2�l?$�-

Yc ;��/9��� ���'�� ���:�� �"s9��� 

@c ;��/9��� ���(=�L�s2"�9� �=� 9���
� 7
M0� ��(��������9���"1�� ��E��

Sc ;��/9������������"�&� ���'��U

��"��������V��9��� �)�#"9� ��E��

Bc ;��/9������������"�&� ���'��s2"���� E
9���
� 7� 	�� E��9��&�  ��E��

o� ����1
�� �&�&"��/�� � �� 
2�� 0�
D��
���K�9���
� 7�0�(�H��r

1c :�� 
�H9��� 

2c 
�H9��� 

3c 2�(
�&� �$

4c �� �� 

57. Yc )�� E� �� :�� �(� � �  0"�"9 �� �� �
����"0�9��� � ��D9"���'�� ��'�� ��
H��b
� 7���� ��f�H	b9��M��2"N �� ��E��

@c s
��(
���������"0�9��� ���	KU"����
9�(
����'����	K�H����)��E���H	b9�
0���&�  ��E��

Sc )I�G����"0�9��� ���� ��������
,�H���
���� ��"������Q��E�����=�9��0���&�  ��E��

o�����1
��)��E��9���'���&�&"��/�� �����&�&"��
)��E��9����9� ���/r

1c eYg����*�e@g��� �� E�eSg�����/O

2c eYg��� �� E�e@g����.�eSg�����/O

3c eYg��� �� E�eSg����.�e@g�����/O

4c e@g��� �� E�eSg����.�eYg�����/O
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58. Mahagony : Equatorial evergreen
forests  :: Teak : _________

1) Temperature deciduous forests

2) Tropical deciduous forests

3) Mediterranean Forests

4) Coniferous forests

59. Column ‘A’ consists of certain
concepts in economics. Colum ‘B’ has
their meanings in conscise form.
Match the concepts with their
meanings :

     A           B

(i) Supply a) exchange of goods
for goods

(ii) Demand b) satisfying wants by

using goods and

services

(iii) Consumption c) desire and ability

to buy goods &

services

( iv) Barter Sysem d) desire to possess

goods & services

e) goods and services

meant for sale

The correctly matched group is

1) i - d, ii - a, iii - d, iv - c

2) i - e, ii - c, iii - b, iv - a

3) i - d, ii - e, iii - a, iv - b

4) i - c, ii - d, iii - c, iv - b

58. �	�<�%	.-��	�	������	�	+�	��	�.�	�<	$�	@�D�	
��3	�%	&	���--�����%	�-�................................

1c ���� s
��(
I�G�����&� ��������"��
�"=� 9��� 

2c )I�G����&� ���Y2��)�� �� ��
�"=� 9��� 

3c �� B?��
+�&� 
$� �"=� 9��� 

4c ��(W������"=� 9��� 

59. Y�Z�#	!J
,	�T1����C�	7��5N	D���	�:�#	$�	Ci��%	&	�	�2
� ��3	��*�� .� YeZ� #	!J
, 	�T1� 5�	7% 	& 	
5N	D�	�	�2� �	
L
#	�� �	�#	�	T1� ���3	��*��.
#	$�	Ci��%	&	�	�2� 5�	7%	&	� 5N	D���
?%�
<��
?M.
����� �

�i� &������� /� 0	)��� �����12"�� #)��
3

4 " � � 5 	 ) � � � � � � � � 1 � � " � � 5

���!����6)��

�ii� '��7�� 8� �������� ������1� ���������"��5

# 	 
 � � � � � � � � � � � 9 : 1 � 
 3

#�������6)��

�iii� ;&�'(����� < � #	
�����������1�������=�����>1����

��		
�����

�iv� �����12����	
�� 7�������12�
3�#	
����

4� ��

�
-��

!���

����?!��@AB������������������

V���&	*�	�
,	,��	�%	�
#	7��	$
,	,�*��P

1) i-B,   ii-Y,   iii-B,     iv-S

2) i-C,    ii-S,   iii-@,    iv - Y

3) i - B,   ii-C,   iii-Y,    iv-@

4) i - S,   ii - B, iii - S,  iv - @
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CIVICS

60. Which one of the following is your

Fundamental Duty as stated under

Article 51A?

1) To express your views or ideas

2) To seek employment and reside in

any part of India

3) To form associations and to

become the member of any

association

4) To develop scientific temper,

humanism and the spirit of enquiry

61. In which form of Government the

change of Government is possible

periodically in peaceful manner?

1) Democracy

2) Military rule

3) Monarchy

4) Dictatorship

62. The elections conducted in Koppal

Constituency in September 2011 is an

example for

1) General election

2) By election

3) Panchayat election

4) Party election

#9�	.��

60. �	�	�n��	
/����	�	� 51A�/?[
,	�T1�53	�	��*�	��	
.�	�n�G
�	���	��C��	��	��	�	D�	��	�	�2�%	��	��M.

1) �&�(
��
��0"9�(�;@̂�"��&� 9���
� 7
��!��E��B�� ��/�� 

2) ��"��������&�&"��/��
������
,���'�
)��(!
9����=��&�  ��/�� �0"9�(

�2��� ��/�� 

3) ���P�������T9���
� 7���W�� ��/�� 
0"9�(��&�&"��/��
����P��;j��"
�����T�&� �������!��X���=��&�  ��/�� 

4) ��5."t+����� 
�(
��"��
�*�\."t��
�� �� E��� ��"��U"���QRJ�&� 
� 7
����S��(�� a��/�� 

61. 
,	,��	� G
�	�� �	��D�	�	� #	)���	%	&	T1� ��C
��C��>� ��
�
,	���	� $��
,	�T1� �	��D�	�	
(�	���	̂ �%	a%�� 5�	���	/�	��	���P

1) ���."������ ��X

2) � '?���=�D��

3) �"������� ��X

4) ���"�Ĥ�"����X

62. ��#�J
(��� 2011�	T1� ���#	i&	� F	����	^�
��
��	)�	T1��	3��	�F	����	̂ �
,	�����&	%���aM�	��	

,	,��	�(%�
,	��F	����	̂ �%��R��<	�	̂ ��X*���P

1) �"���������� 
"��U�� (General

election)

2) )���� 
"��U��(By election)

3) ����"�&� �$��� 
"��U�

4) ����K��� 
"��U�
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63. The authority vested with the powers
to enquire the probelms related to
slavery, torture and arrest of persons
without valid reasons is

1) Fundamental Rights Protection
Authority

2) The Commission for the Rights of
the People

3) Human Rights Judicial Authority

4) Human Rights Commisison

64. The wars between the Nations and the
competition in the production of
nuclear weapons can be put to an end
if we honour the provisions of

1) Disarmament treaty

2) The seabed arms control treaty only

3) The outer space treaty only

4) Provisions of Bandung Conference

65. The court vested with the powers of
advisory jurisdiction

1) Sessions Court

2) Supreme Court

3) Revenue Court

4) Lok Adalat

66. The powers to dissolve the State
Legislative Assembly is vested with

1) The President of India

2) The Governor of the State

3) The Prime Minister

4) The Chief Minister

63. %	����	�*$'��9�D�	�'�6�	)h
���<�%	���	��	�
���	�/C1��� (
��	�	��>� G&	#	_�	��	
�	<�
�	�	����%	&	�(%�q�/F��	̂ ���	3��	��	�5?[���	�	�	�2
<��
?�	��	��	
��\
1) �� (����(���0��� b9��������KU"�+�&�(
9�
2) ���."�0��� b9����+�&�(
\���+9��� 
3) ��&"
����0��� b9����
"!�&�&"�9����&�(
9�
4) ��&"
����0��� b9������&�(
9�

64. ��&	%���aM�	��	�
,	,��	�G
�	��G#	i
�	�	����1
5
�	%	&	�	�2�%9�	/M��%	���0	J:%	&	��	3	��	��	

,	���	U%	&	�	�2� <�%	�� 5�@�	� :� R��i�	��
#�k#�E�!
,	��	�2��	3�%	8J(<	��	�P

1) +,�uSEk
������8��O���

2) ��
��������  �����������,��"Ek��Ek
+�&� ����U"� 8��O���

3) ��
�����"0"!�",��8��O���

4) �"�=��9$����� 3
��
����;�,�9��� 

65. �	C<�� �	�F	�	� 5?[���	�	� ���B�
,	��	�2
<��
?�	��	����
,	,�C
,	�

1) ��I�
$%�
"!�&�&"��&� 

2) ������
��-�
"!�&�&"��&� 

3) ���
�(!�
"!�&�&"��&� 

4) 2�(
���;�"��$

66. �����/����	�	���
,	��	�2�/�	;D�	��	�5?[���	
<��
?�	��	�	�	�
1) ��"��������"I"Jk���!��K�� 
2) �"�!����"�!�"��� 
3) �����"
���� ���
4) ��  v!�� ���
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67. The Constitutional Amendment by
which the voting age was reduced
from 21 years to 18 years

1) 42nd 2) 44th

3) 61st 4) 74th

68. Who among the following can take
part in the discussions of Zilla
Panchayat but does not have right to
vote?

1) The President of Zilla Panchayat

2) Vice-President of Zilla Panchayat

3) The elected representatives of Zilla
Panchayat

4) Chief Executive Officer (CEO)

69. Supposing you are cheated by a
merchant by selling a defective
material you can file a petition against
the merchant in

1) Small Causes Court

2) Civil Court

3) Consumer Court

4) Sessions Court

70. The important event held on 22nd

(third Thursday) of September 2011
at New York was
1) General Assembly Session of U.N.
2) The Independence Day Celebration

of U.S.A.
3) Celebration of U.N. Day
4) Celebration of UNESCO Day

67. �	��	���	�	��	
,���/��
,	��	�2�21��	0	D%	a
�	
18� �	0	D%	a%�� �	_���%��aM�	� �	
/����	
��	�p#	_
1) 42
�

2) 44
�

3) 61
�

4) 74
�


68. ;��1� #	
F�
,	���� �	���%	&	T1� �	��	���	�	
5?[���	� <��
?�	��� ����	C� F	F�D%	&	T1
���%	�	h�	��	�5?[���	�	�	�2�<��
?�	��	�	�	�

,	,��	�P
1) \2"������"�&� �$
��;���!��K�� 
2) \2"������"�&� �$
��)�"���!��K�� 
3) \2"������"�&� �$
���� 
"N ��

����+H^9��� 
4) ��  v!� �"�&� ��+���0�U"H^�"�

;j��"�W
��$�Y�$%�� !>
�$
�6^
���$�(CEO)

69. G(H����#�$
,	����	&	#��%	���	�8J�	��	�	���	�	�2
.�	�%���	,���8��	,�_������	%��aM�	p.�X�	�	
/�	��	U� �	��	�	�2� .��	7� ��AT�	(<	����	
���
,	,�C
,	�
1) ���G��"!�!�
"!�&�&"��&� 
2) S�2$�
"!�&�&"��&� 
3) 9"�0������
"!�&�&"��&� 
4) ��I�
$%�
"!�&�&"��&� 

70. �	��
, 	,���D� �	%	� 	�	T1� ��#� J
(��� 22
(�	���	���� %	��	����	)'� 2011� �	
�	�� �	3��	
G
�	��#	)�	��A��	�	,��	
��	
1) �,�X�����T�&� ��"��������������&� 

;H^��
,�
�

2) ;�� 
��"�����&�  ��E�����"T
���
�"X������4!�H
"����U�

3) �,�X�����T�&� �H
"����U�

4) �&�  
���(b
�(UNESCO) H
"����U�
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MATHEMATICS

71. The sum of two numbers is 161. If one

of the numbers is 30% more than the

other, find the two numbers

1) 231 and 230

2) 70 and 91

3) 161 and 70

4) 91 and 161

72. If x2 + y2 = 47 and 
2

19
xy =  then the

value of  3(x+y)2 + (x – y) 2 is

1) 170 2) 217

3) 226 4) 86

73. The value of 7 + 5x (– 3) – (6 – 2) ÷÷÷÷÷ 2 is

1) – 10 2) – 16

3) – 20 4) – 38

74. One year ago, a man’s age was

8 times as old as his son. Now his age

is equal to the square of his son’s age.

The present age of the son is

1) 5 years

2) 6 years

3) 7 years

4) 8 years

%	�=�	

71. ��	3	�� �	
���%	&	� ����	��	7� 161.� G
�	�
�	
���
,	����	�����
�	���	
���*
�	�30%��	0	�J
<�F�g�	�����	3	���	
���%	&	�	�2��	
3	��h_f�$

1) 231��� �� E� 230

2) 70 �� �� E 91

3) 161 �� �� E 70

4) 91 �� �� E 161

72. x2 + y2� =� 47� �	��	���
2

19
xy = � X�	��

3(x+y)2 + (x – y) 2  �	�����
,	��

1) 170 2) 217

3) 226 4) 86

73. 7 + 5x (– 3) – (6 – 2) ÷÷÷÷÷ 2 ��	�����

1) – 10 2) – 16

3) – 20 4) – 38

74. G
�	���	0	D�	�h
���G(H��	�L�
,	���	
,	��	�b
�	�	2��	�%	�	��	
,	�Mb*
�	�8�#	8�J�<�F�g*�	��.
V%	�X�	�	��	
,	��	�b�5�	�	��	�%	�	��	
,	�Mb�	
�	%	D�	WJ��.�<�%��	����	�%	�	��	
,	��	�b

1) 5���I��9��� 

2) 6���I��9��� 

3) 7���I��9��� 

4) 8���I��9��� 
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75. The factors of  
7

1
 y2+y – 14 are

1) (
7

1
y – 1) (y – 14)

2)  (
7

1
 – y) (y – 14)

3) (
7

1
y + 1) (y + 14)

4) (
7

1
y – 1) (y + 14)

76. Here is a list of numbers 42.2, 28.4,

47.0, 36.4, 33.2,  40.4,  36.1 and 32.3.  If

the number 47 is replaced by 51 in the

list, then the mean of the numbers is

1) 37

2) 37.5

3) 51.5

4) 38.5

77. If 18 oranges are bought at the rate

of Rs. 15/- and  15 are sold

at the rate of  Rs. 18/-, then the profit

% is

1) 40% 2) 42%

3) 44% 4) 46%

75.
7

1
 y2+y – 14  ��	�	�5#	�	�	D�	%	&	�

1) (
7

1
y – 1) (y – 14)

2)  (
7

1
 – y) (y – 14)

3) (
7

1
y + 1) (y + 14)

4) (
7

1
y – 1) (y + 14)

76. �T1� �	
���%	&	� G
�	�� #	!J
,	��	�2� ���!J��.

42.2' �28.4' �47.0' �36.4' �33.2' �40.4' �36.1

�	��	���32.3.�V�%	��	T1�47��	
���
,	��(�	��*

51��	�2����$M�	��'�V��	
���%	&	��	���	$
,	��

1) 37

2) 37.5

3) 51.5

4) 38.5

77. 15��	�.%	a%��18�L�	����<	��S%	&	�	�2����
3	�'

18��	�.%	a%��15�L�	����<	��S%	&	�	�2��	,�$�	��'

(�	��	�����	3����	������	

1) 40% 2) 42%

3) 44% 4) 46%
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78. The measure of angles ∠ MON and

∠POR are

1) 90º , 80º

2) 80º , 90º

3) 110º , 70º

4) 70º , 110º

79. The value of 
32

4222

)12(
)4()3( ×

 is

1) 4
2) 9/16
3) 3
4) 16/9

80. The descending order of
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1) 90º , 80º

2) 80º , 90º

3) 110º , 70º

4) 70º , 110º
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81. The area of a rectangular field is
x2 – 40x – 129 sq. mtrs. If one of the
sides is (x+3) mtrs, then the perimeter
of the field is

1) (4x2 – 80) mtrs

2) (4x2 + 80) mtrs

3) (4x  – 80) mtrs

4) (4x + 80) mtrs

82. What is the smallest number by which
13,500 is to be multiplied to make the
product a perfect cube ?

1) 2

2) 3

3) 4

4) 5

83. By how much is the sum of (a – 5)
(a – 2) and a2 + 6a + 7 is greater than
– a2 – 2a + 1 ?

1) a2 –  a + 16

2) a2 – a – 16

3) 3a2 + a + 16

4) 2a2 + a +16

84. What is the percent of change from 50
to 58 ?

1) 40% increase

2) 40% decrease

3) 16% increase

4) 16% decrease

81. G
�	��X
,	������	�	����k���	�	�/M���D�	7
x2 – 40x – 129�F	./��.����k���	�	�G
�	�
��<	��(x+3)�/�� %	&��	��'�5�	�	��	��	�&	��
,	��

1) (4x2 – 80) mtrs

2) (4x2 + 80) mtrs

3) (4x  – 80) mtrs

4) (4x + 80) mtrs

82. 13'500 �	�2�#	$#	E�D�]	�	�	��2*��	,�3	C�
%	��=�	������	��	.0	4��	
���

1) 2

2) 3

3) 4

4) 5

83. (a – 5) (a – 2)��	��	����a2 + 6a + 7�����	��	7
– a2 –2a + 1�L>
�	��0	�J�<�F�g*���P

1) a2 –  a + 16

2) a2 – a – 16

3) 3a2 + a + 16

4) 2a2 + a +16

84. 50�$
�	�58��	T1�	�����	3��(�	���	̂ ���0	�JP

1) 40%�0��� -

2) 40%���B�� 

3) 16%�0��� -

4) 16%���B�� 
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85. ABCD is a Rectangle. AB = 10 cm

BC = 8 cms. Find the area of the

shaded figures

1) 66  Sq. cm

2) 76  Sq. cm

3) 64  Sq. cm

4) 74 Sq. cm

86. The value of x in 
1x
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−
−

=  then x = ?
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−

85. ABCD G
�	�� X
,	��	  AB = 10� cm
BC = 8 cms.�%	��	��	�� �	,�_�	��	� ��
��	)�	
/M���D��0	�JP

1) 66�����������.� 


2) 76�����������.� 
.

3) 64�����������.� 


4) 74�����������.� 
.

86.
1x

akx
y

−
−

= �X�	���‘x ’��	�����

1)
yk

ay

−
−

2)
ky

ya

−
−

3)
yk

ya

−
−

4)
ky

ay

−
−
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87. ���!J�	��	� 6�	)�	T1� ��<	�%	&	� 5&	��
,	��	�2
�	���		�	0�J*M�	��'� <���	� ������nrk� /M���D
�	��	���<	&��������nrk�/M���D%	&	��	�����	

1) 8���? J

2) 12���? J

3) 27 ��? J

4) 54���? J

88. ‘O’��	+�	��	����
�	).��AB = CD = 8.4�cm.
���!J�	��	�6�	)�	T1�%	��	��	���	,�_�	��	���
��	)�	
��
��	)#�	C�sF	�	�	���
!/��8��%	&	T1t

1) 42.42

2) 46.62

3) 48.64

4) 41.58

87. In the given figure, if length   of the
sides are tripled, then the ratio
between new surface area and old
surface area is

1) 8 times

2) 12 times

3) 27 times

4) 54 times

88. ‘O’ is the centre of the circle.
AB = CD = 8.4 cms.The area of
the shaded region of the figure
( in Sq. cm is)

1) 42.42

2) 46.62

3) 48.64

4) 41.58
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89. u�	��?�	%	&	T1���ATM�	�R0	S��
,	���	���	$
33.5º� ��
.� ��C�>� ?�	%	&	T1�	� R0	 S� �
29.5º��
 .,� 31º��
 .,� 34.5º��
 .� �	�� 	� �
33.5º��
.�X*�	p�������2
�	��?�	�	�R0	S��
,	��

1) 27ºC

2) 28ºC

3) 39ºC

4) 30ºC

90. G
�	��X
,	��	�]	���	+�
,	��&	c�3	(H�	�X
�	$�	
5&	��%	&	�� 30� ��
./�.'� 9� ��
./�.� �	��	��
4���
./�.����.���	�	T1�3���
./�.�5
F	�&	c
�0	�J�]	���	+�%	&	�	�2�I���_�	(<	��	� ?

1) 35

2) 38

3) 39

4) 40

89. The average temperature recorded in
five days in a place is 33.5ºC. If the
temperature of four days is 29.5ºC,

31ºC, 34.5ºC and 33.5ºC, then the
temperature on the other day is

1) 27ºC

2) 28ºC

3) 39ºC

4) 30ºC

90. A cubical card board box has the inner
dimensions of 30 cm, 9 cm and 4 cms.
How many cubes of 3 cms can be fit
inside the box ?

1) 35

2) 38

3) 39

4) 40
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SPACE  FOR  ROUGH WORK
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SPACE  FOR  ROUGH WORK


